SHeEE ERBRPREHFAD1=T - FTE—TYMR—ILKXE[FER]

T BRERITE-WM-MEE E:h2EER HA: S FIE2A22R(x2) BT RiuYvh—3JE—5H RFHEXEL

g Y4 Y ~ - o o Y
[1)—5E] 1595 — L XAV ST =84 L, S— L5y o E
= o e 5 |[3lEHF| B | 88 | LKa |eessz| S| BbA | ER
SH—ndh |[F—LI5952| 7TV | EResa =7
0 — 30 o — 0 0 — 5
] — ] 0 1 2 0 35 -35 0 4 4
Z-H—)LH b1 F F54% 0| FS1E 0 S.-H—)Lh
30 — 0 30 — 0 20 — O
* ] — — 3 0 0 80 0 80 16 12 1
A—ITIVOR | 515 6 PS4 6| FSA% 4 A—ILTSVHR
o — 0 0 — 30 o — 0
] B T o P 0 2 1 0 30 | -30 6 5 3
SASUGTYUIN| 1% 0| M1 6 FSa8 0 74/“/“%&/-
5 — 0 0 — 20 o — 0
_ _— — - 1 1 1 5 20 | -15 5 7 2
ERE a1=7F MAB 1| MSAB 4| MSAE 0 BREY21=T

XKBbAR . 5IEN 2R, BIF1 R, EHEOR




